Differential Equation and Slope Fields Review WS #2

1. Given % = g, and y(-3) =-2 a) Find the particular solution  b) Find the domain.

c) Find the equation of tangent line when x = —/6  d) Use it to approximate y(-2.5)
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2. Consider the differential equation E% ==

a) Find a particular solution to y = f(x) to the differential equation with the initial condition f1)=1
b} State its domain
¢) Find the equation of tangent line when x=e

)
d)  Use tangent line to approximate y(2.8)
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3. The rate of temperature decrease for a cup of coffee is given by equation —&% = ky with t measured in minutes.

The initial temperature is 190 °F and the temperature decreases to 76° after 5 minutes

a} Find the particular equation

b} Find how long it will take for the temperature to decrease to 50°

c) Find the average temperature of the coffee in the first 10 minutes

d) Using 4 equal intervals of right-handed Riemann sum, find the avg temperature of the coffee in the first 10 mins.

Find 1 ¥(6)

e)

4. Solve the differential equation % = —Z— giveny{-2)=1
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2. Consider the differential equation el %

b) State its domain
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a) Find the particular solution
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b) Find the domain.
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Find the equation of tangent line when x=e
Use tangent line to approximate y(2.8)
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3. The rate of temperature decrease for a cup of coffee is given by equation % = ky with t measured in minutes. The

initial temperature is 190 °F and the temperature decreases to 76° after 5 minutes

1) Find the partlcular equatlon

kt

=Ce |
[f:m« “IL?mI)> J} jkc& J ZK(O) 2 5k

T #¢=]90e.

(/O” < —~ =g

(o, 110°) | dbi=tre| 12oC |2 "
- 3 y=ijoe &
5 < 5"

(J7é) = e tr& J JZ\//)%

b) Find how long it will take for the temperature to decrease to 50°
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c) Find the average temperature of the coffee in the first 10 minutes
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d) Using4 equal intervals of right-handed Riemann sum, find the avg temperature of the coffee in the first 10 mins
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4. Solve the differential equation A
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